
          Вариант 1                                                                                                        Вариант 2 

Вычислить:                                                                                                       Вычислить: 

1.  
1−3𝑖

2+𝑖
+

2+2𝑖

1−𝑖
+ 𝑖9                                                                                            1.  

2−3𝑖

2−𝑖
+

1+2𝑖

1+𝑖
+ 𝑖7 

2. (−1 + √3𝑖)
27

                                                                                              2. (−√3 + 𝑖)
24

 

3. √−8𝑖
3

                                                                                                              3. √8𝑖
3

 

4.Решить уравнение:                                                                                      4.Решить уравнение: 

𝑧2 + 2𝑧 + 5 = 0                                                                                                 𝑧2 + 6𝑧 + 13 = 0 

Указать множества:                                                                                         Указать множества: 

5. 1 ≤ |𝑧 + 3𝑖| ≤ 3                                                                                          5. 1 ≤ |𝑧 + 4𝑖| ≤ 4 

6. {
|𝑧| ≥ 2,

𝜋

4
≤ 𝑎𝑟𝑔𝑧 ≤

𝜋

2

                                                                                             6. {
|𝑧| ≥ 3,

𝜋

6
≤ 𝑎𝑟𝑔𝑧 ≤

𝜋

3

 

7. 3≤ 𝑅𝑒𝑧 ≤ 5                                                                                                   7. 3≤ 𝑅𝑒𝑧 ≤ 5 

 

 

 

  

 

          Вариант 3                                                                                                        Вариант 4 

Вычислить:                                                                                                       Вычислить: 

1.  
2−3𝑖

1+𝑖
+

3+2𝑖

2−𝑖
+ 𝑖10                                                                                            1.  

2+3𝑖

2−𝑖
+

3+2𝑖

3+𝑖
+ 𝑖13 

2. (−1 − √3𝑖)
30

                                                                                              2. (−√3 − 𝑖)
18

 

3. √−27𝑖
3

                                                                                                              3. √27𝑖
3

 

4.Решить уравнение:                                                                                      4.Решить уравнение: 

𝑧2 − 2𝑧 + 2 = 0                                                                                                 𝑧2 + 4𝑧 + 5 = 0 

Указать множества:                                                                                         Указать множества: 

5. 1 ≤ |𝑧 + 𝑖| ≤ 3                                                                                          5. 1 ≤ |𝑧 + 2𝑖| ≤ 4 

6. {
|𝑧| ≥ 4,

𝜋

6
≤ 𝑎𝑟𝑔𝑧 ≤

𝜋

2

                                                                                             6. {
|𝑧| ≥ 2,

𝜋

6
≤ 𝑎𝑟𝑔𝑧 ≤

𝜋

4

 

7. 3≤ 𝐼𝑚𝑧 ≤ 5                                                                                                   7. 3≤ 𝐼𝑚𝑧 ≤ 5 

 

 



          Вариант 5                                                                                                        Вариант 6 

Вычислить:                                                                                                       Вычислить: 

1.  
1−4𝑖

2+𝑖
+

2+𝑖

1−3𝑖
+ 𝑖5                                                                                            1.  

1−3𝑖

3−𝑖
+

1+2𝑖

2+𝑖
+ 𝑖17 

2. (−1 + √3𝑖)
27

                                                                                              2. (−√3 + 𝑖)
24

 

3. √−8
3

                                                                                                              3. √8
3

 

4.Решить уравнение:                                                                                      4.Решить уравнение: 

𝑧2 − 4𝑧 + 5 = 0                                                                                                 𝑧2 − 6𝑧 + 13 = 0 

Указать множества:                                                                                         Указать множества: 

5. 1 ≤ |𝑧 − 3𝑖| ≤ 5                                                                                          5. 1 ≤ |𝑧 − 4𝑖| ≤ 6 

6. {
|𝑧| ≤ 2,

𝜋

4
≤ 𝑎𝑟𝑔𝑧 ≤

𝜋

2

                                                                                             6. {
|𝑧| ≤ 3,

𝜋

6
≤ 𝑎𝑟𝑔𝑧 ≤

𝜋

3

 

7. 4≤ 𝑅𝑒𝑧 ≤ 6                                                                                                   7. 2≤ 𝑅𝑒𝑧 ≤ 8 

 

 

 

  

 

          Вариант 7                                                                                                        Вариант 8 

Вычислить:                                                                                                       Вычислить: 

1.  
2−3𝑖

4+𝑖
+

−1+2𝑖

2−𝑖
+ 𝑖17                                                                                            1.  

2+3𝑖

2+2𝑖
+

3+2𝑖

5+𝑖
+ 𝑖14 

2. (1 − √3𝑖)
30

                                                                                              2. (√3 − 𝑖)
18

 

3. √−27
3

                                                                                                              3. √27
3

 

4.Решить уравнение:                                                                                      4.Решить уравнение: 

𝑧2 − 2𝑧 + 10 = 0                                                                                                 𝑧2 + 4𝑧 + 8 = 0 

Указать множества:                                                                                         Указать множества: 

5. 1 ≤ |𝑧 − 𝑖| ≤ 3                                                                                          5. 1 ≤ |𝑧 − 2𝑖| ≤ 4 

6. {
|𝑧| ≤ 1,

𝜋

4
≤ 𝑎𝑟𝑔𝑧 ≤

𝜋

2

                                                                                             6. {
|𝑧| ≤ 5,

𝜋

6
≤ 𝑎𝑟𝑔𝑧 ≤

𝜋

2

 

7. 2≤ 𝐼𝑚𝑧 ≤ 7                                                                                                   7. 31 ≤ 𝐼𝑚𝑧 ≤ 10 

 

 



 

 


